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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(i) There are 25 questions in all.
(it)  All questions are compulsory.

(iii) Questions no. 1 — 14 are short-answer type questions carrying 2 marks

each. Answer to each question should not exceed 30 words.

(iv) Questions no. 15 — 21 are long-answer type questions carrying 4 marks

each. Answer to each question should not exceed 80 words.

(v)  Questions no. 22 - 25 are very long-answer type questions carrying
6 marks each. Answer to each question should not exceed 200 words.

Question no. 25 is to be answered on the basis of the passage given.

1. YA H 97 foama & 8™ (4aH) o ot ITRERM ShRuT 1 Ieci@ hifte, | 1+1=2

Mention the factors responsible for the decline in the child sex ratio in
India.

2. SN AT hid Bid 8 2 2

Who are the tribals ?
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ST 8 forg TpR & gfigdy gid @ 2

What changes have taken place due to marketisation ?

fersrurfererr UTed STeqaEIsh USHIfdeh ®9 @ 3Tl=g %y 8 ?

How are the privileged minorities politically vulnerable ?

“aTi TsgETe W, gHTERITEl Yei HHTRITCRS 3K AR ATcH gite g fated
W 1”39 AT T 31 THEANHS N AlhadTcHeh gl o FI1 THA @ ?
“In Indian nationalism, the dominant trend was marked by an inclusive

and a democratic vision.” What do you understand by the words
‘inclusive’ and ‘democratic’ in this statement ?

s, fo-sieniertor 8 g 2

How does industrialisation lead to de-industrialisation ?

Y RAT T & 319 7 ?

What is the meaning of modernity ?

Gl o TSTEd (3719) o |ied (Jid) #4918 2 IS AT |

What are the sources of revenue for the panchayats ? Give examples.

e 9 A (Avarstt) o @y fhe R aumrEntad g ure ?
In what way have TNCs adapted to the Indian audiences ?

TR WY1 o THER-UAT 3 S 8 o fofu foha WAt (strategies) &1
IR R 2

What strategies have been used to make the Indian language newspapers
popular ?
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12.

13.

14.

15.

16.
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=R HIEIH Alehdd o “UgieR & 8 ? 2

Why is media called the “watchdog” of democracy ?

grTieies aierda 3T gl 3Tera | fisar sdrsu | 1+1=2

Bring out the differences between social change and social movement.

qu forgm™ 3TeIaH! bl fomivdamd sqrsu | 2

State the features of new farmer’s movements.

31 eI I Ieai@ hHivT g I@e & Aaredi ol Idfva (3Trerferd) foranm | 2

Mention the issues which agitated the Jharkhand leaders.

TS SMUTAehTA o AT YRER A AT (HREIshH) i 3T oM | R0
AT | 4

HYAT

“forfera B o foT Tmemar <t wrd Sf-TraE B9 o HEequ @ied g |7 fade
HfoT | 4

The family planning programme suffered during the period of National

Emergency. Give reasons.

OR

“Literacy as a prerequisite to education is an instrument of

empowerment.” Discuss.

qrTiSTeh GEET H YR ITETes =HT i 68 qiafdd ot edl & ? 2+2=4

In what ways does change in social structure lead to changes in the

family structure ?
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19.

20.

21.

62

3eaTe] Hifd I WA ST w1 h® YMTiad foRam 2 4

How did liberalisation policy have an impact on the Indian markets ?

T AT FEd g b TSAT hl 9IS T89E UG o folu @8 @ 8 @

gT-ehReh ? SITEAT <hifTT | 4
YT
gfRuetdaTaTg (HfARUeTdraTe) i 39k g 91 § hH U Tehd & ? 4

Do you think that the linguistic recognition of States has helped or
harmed India ? Explain.

OR

How can Secularism be understood in its two forms ?

TH.WE.U. U9 g < 78 FRIF 9919 6l i+ fafim feafaa <6 sameen hifsg | 4

Explain the three different situations of urban impact as given by
M.S.A. Rao.

MY TR T GH{UE R | 1§94 @ ? 4

What is the relationship between modernisation and secularisation ?

32TE0T <hl Terdr ¥ gfaweaeff fadi bl staumon 1 same hiflvu | 4
AYAT

Teh TATATh TEAT H h1H hid H TEAHT o Jeh o187 Icqd hidl B 2

N

Explain the concept of competing interests with the help of an example.
OR

How is inequality a hurdle in the working of a democratic institution ?
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HiaeT FY 1 THAT gY 399 B ATl H T W T Sy |

Explain contract farming and also highlight its advantages.

“irecioRtu fiE YR % AN I ME YRR § UWifad Al g |7 S
HIT |

“Globalisation affects different people differently.” Explain.

ST Td IGRIAT o &G AR JTNN § AW dTel qREdHl bl faer=m
HIT |

Discuss the changes that have emerged in Indian industries after
globalisation and liberalisation.

i feu e TS W ufeu I fefaiad yeat & S i

FHR TR o ferdl ol Terid 1 Sefish & | S7ehl 39 30 — 32 &1t & | o8 31
T BT BT T&1 hid S S THAS 5 I8 hid b [T hal AT, Afehd I8 Teh
i ot # aftss weres @ | st gfordl 4 e oo foren @ ek @
ST SeeT s A0 1 @1 IR H M F | TEH § Sgal 4 Areed el
TS At B 3R F Tl o Tt Hiepfar o @ § | gAR ST
ASh T I & AR ASfhaAl i That Wt 8 |7 FHAR 7 e | [...] areHifn
HIAM! o JAT AN 376 YA & o, 3o §Y, qoheilth T 1ol Gird a1 @ ol
AN WA &9 & dad gA1 | T8R! S[d 3R TTeR g sl Toha T ST T
S[Al IR ST # 991 31 g1l % gE-9E ° 354, TOgel S9egR Seehdl & |
fohd, BFETOT o RN SfeTdi § & Aeh™T o oI T8 H HW I AR e
aft hfsa = g B | “arfireRiy Tissh BTE-The & S1E UK B od & Hifh 9
Fgd TS &, Yo AT 4 Hgl, A foh Toh TGS AT H HERH AR
% UG T HRNT 7 | I8 Ted o enfien fverer wxae ¥ fagq seift=d §
fewatimr gted fomam 8 | 3 Ueh ufise fum 3, s i & Se on w9 °g oft g9
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e o feeetmmer o, 3% o7uq uftar i v It & wEnE ¥ At foeen
Ak @y & a5 off smug fohen fob a7 ot S wgEE T watw | “foarg
TANE § Teh UguH 4 B0 I1fd o 91 A g7 a1 34 e o fea | e 3ea
TTie 1 A ST SR T FE1-HE S G | 98 S o Tk 7O ia gt
2 |7 waTel R vgHEl % offw srer f¥e e — 3= U gferd i offat
I T 2 “Sgin geeh ARt g3 STt freerat foam o & g ff w Sat o
3 or,” St 9 quET fohet A |

e efaal & fou 18 forert =mgd 8 — 9 o= ye-forg eferdt & ary fierent
Mg < Tidl § AR 9@ & | “GIR A S, Yo 3R |9 g | g
Tehale B ! &L 8 3N I Teh 91 g9 Uehale @l S0 dl 7! ag Gehrad]
L TR, TS MG AT SO AH H1S HR 781 301 3T 7 2 Hhis UeT geled |7
(1) eferdt o1 e @ BIAT B 2

(F) TST G TIfaTd WeWTd sl U i o oL bl T8 Igell W I
BT, |

Read the passage given below and answer the following questions :

Kumar embodies the spirit of the dalits of Gohana. In his early 30s, he is
not the scavenger the caste society ordered him to be, but a senior
assistant in an insurance company. Most dalits have embraced education
and stepped across the line of control of the caste system. “There are
many of us who have a Masters Degree and work in private and
government jobs. Most of our boys go to school and so do the girls,” he
said. [...] The young men of the Valmiki Colony are not the stereotyped,
submissive, suffering dalits that one would traditionally expect to

encounter. Dressed in imitation Nike shoes and Wrangler jeans, their
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body language is defiant. However, the journey of upward social mobility
remains tough for the vast majority of landless dalits in Haryana. “Most
boys drop out after high school because of acute poverty,” said Sudesh
Kataria, an assistant engineer working for a multinational company. He
has a diploma in electrical engineering from the Industrial Training
Institute, Gurgaon. Kataria’s best friend at ITI, a Jat, once invited him to
a family wedding but insisted that he shouldn’t reveal his identity. “At
the wedding a guest asked me about my caste and I lied. Then he asked
me about my village and I told him the truth. He knew my village was a
dalit village.” A fight broke out between the hosts and the guests — how
can they let a dalit in ? “They washed the chair I sat on and threw me

out,” Kataria recalls.

Kataria wants a new life for the dalits — he campaigns throughout the
villages of Gurgaon with other educated dalits. “Our people will rise,
stronger and powerful. We need to unite. And once we unite and fight

back, there will be no Gohanas or Jhajjars. Not any more.”
(a)  What is the meaning of Dalits ?

(b)  Highlight the initiatives taken by the State to abolish caste

discrimination.
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